

Stanisław Midura

ON SOLUTIONS OF SOME SYSTEM OF FUNCTIONAL EQUATIONS

Let us denote by $\mathbf{R}$ the set of real numbers and let $\mathbf{R}_0 = \mathbf{R} \setminus \{0\}$. In paper [7] (p. 79), the following system of functional equations

$$(1) \quad F(y_1x_1, y_1x_2 + y_2x_1^4 + 4x_1F(y_1, y_2)g(x_1, x_2) + \\ + 6x_1^2g(y_1, y_2)F(x_1, x_2) + 3F(y_1, y_2)F^2(x_1, x_2)) = \\ y_1F(x_1, x_2) + x_1^2F(y_1, y_2),$$

$$(2) \quad g(y_1x_1, y_1x_2 + y_2x_1^4 + 4x_1F(y_1, y_2)g(x_1, x_2) + \\ + 6x_1^2g(y_1, y_2)F(x_1, x_2) + 3F(y_1, y_2)F^2(x_1, x_2)) = \\ y_1g(x_1, x_2) + 3x_1F(y_1, y_2)F(x_1, x_2) + x_1^3g(y_1, y_2)$$

in the class of functions $F : \mathbf{R}_0 \times \mathbf{R} \rightarrow \mathbf{R}$, $g : \mathbf{R}_0 \times \mathbf{R} \rightarrow \mathbf{R}$ was considered and two solutions $F(x_1, x_2) = g(x_1, x_2) = 0$ for any x_1, x_2 , and $F(x_1, x_2) = g(x_1, x_2) = \frac{1}{3}(x_1 - x_1^2)$, where pointed out.

In the present paper we shall show that the system (1), (2) has also other solutions in certain classes of functions.

The system (1), (2) appeared when some subsemigroups of the group L_4^1 were determined. The definition of L_5^1 one can find in [2]. In papers [1]-[16] the authors dealt with the determination of subgroups and subsemigroups by means of functional equations.

First let us consider the system (1), (2) in the case of

$$(3) \quad F(x_1, x_2) \neq 0$$

for arbitrary x_1 and x_2 . Then the equation (2) takes the form

$$(4) \quad g(y_1x_1, y_1x_2 + y_2x_1^4) = y_1g(x_1, x_2) + x_1^3g(y_1, y_2).$$

Hence, for $x_2 = y_2 = 0$ we get

$$(5) \quad g(x_1y_1, 0) = y_1g(x_1, 0) + x_1^3g(y_1, 0).$$

In view of Theorem 1 in [2], the general solution of (5) is the set of functions of the form

$$(6) \quad g(x_1, 0) = \mathbf{p}(x_1^3 - x_1),$$

where $\mathbf{p}$ is any real number. If we set $x_1 = y_1 = 1$ in (4), we obtain

$$(7) \quad g(1, x_2 + y_2) = g(1, x_2) + g(1, y_2).$$

Therefore, the function

$$(8) \quad \phi(x) := g(1, x)$$

is additive. If we set $x_1 = 1$ and $y_2 = 0$ in (4), then due to (6) and (8), we have

$$(9) \quad g(y_1, x_2 y_1) = y_1 \phi(x_2) + \mathbf{p}(y_1^3 - y_1).$$

Hence for $x_2 = \frac{y_2}{y_1}$ we get

$$(10) \quad g(y_1, y_2) = y_1 \phi\left(\frac{y_2}{y_1}\right) + \mathbf{p}(y_1^3 - y_1).$$

Putting (10) into (4), we can write

$$\begin{aligned} & x_1 y_1 \phi\left(\frac{y_1 x_2 + y_2 x_1^4}{x_1 y_1}\right) + \mathbf{p}[(x_1 y_1)^3 - x_1 y_1] = \\ & y_1 x_1 \phi\left(\frac{x_2}{x_1}\right) + \mathbf{p}(x_1^3 - x_1) y_1 + \\ & + x_1^3 y_1 \phi\left(\frac{y_2}{y_1}\right) + x_1^3 \mathbf{p}(y_1^3 - y_1). \end{aligned}$$

Therefore, due to the fact that ϕ is an additive function for rational x_1, y_1 one has the equality

$$y_1 \phi(x_2) + x_1^4 \phi(y_2) = y_1 \phi(x_2) + x_1^3 \phi(y_2).$$

becoming $\phi(y_2)(x_1^4 - x_1^3) = 0$ for any $y_2 \in \mathbf{R}$. Hence $\phi(y_2) = 0$ and it follows from (10) that

$$(11) \quad g(y_1, y_2) = \mathbf{p}(y_1^3 - y_1).$$

We have shown that the general solution of (4) is the family of functions (11), where $\mathbf{p} \in \mathbf{R}$.

The system (1), (2) has then infinitely many solutions, namely the set of pairs of the functions

$$F(y_1, y_2) = 0, \quad g(y_1, y_2) = \mathbf{p}(y_1^3 - y_1),$$

where $\mathbf{p} \in \mathbf{R}$.

Let us consider now the system (1), (2) with F not depending on the second variable, i.e.,

$$(12) \quad F(x_1, x_2) = F(x_1, 0).$$

Then (1) reduces to the equation

$$(13) \quad F(x_1 y_1, 0) = y_1 F(x_1, 0) + x_1^2 F(y_1, 0).$$

In virtue of Theorem 1 in [2], the general solution of (13) is

$$(14) \quad F(x_1, 0) = c(x_1^2 - x_1),$$

where $c \in \mathbf{R}$. Hence, under the assumption (12),

$$(15) \quad F(x_1, x_2) = c(x_1^2 - x_1).$$

Substituting (15) into (2), we get

$$(16) \quad g(x_1 y_1, y_1 x_2 + y_2 x_1^4 + 4x_1 g(x_1, x_2) c(y_1^2 - y_1) + \\ + 6x_1^2 g(y_1, y_2) c(x_1^2 - x_1) + 3c^3(x_1^2 - x_1)^2(y_1^2 - y_1)) = \\ = y_1 g(x_1, x_2) + 3x_1 c^2(x_1^2 - x_1)(y_1^2 - y_1) + x_1^3 g(y_1, y_2).$$

If we put first $x_1 = 1$ and then $y_1 = 1$ in (16), we obtain

$$(17) \quad g(y_1, y_1 x_2 + y_2 + 4c g(1, x_2)(y_1^2 - y_1)) = y_1 g(1, x_2) + g(y_1, y_2),$$

$$(18) \quad g(x_1, x_2 + y_2 x_1^4 + 6x_1^2 g(1, y_2) c(x_1^2 - x_1)) = g(x_1, x_2) + x_1^3 g(1, y_2).$$

If we set $y_1 = 1$ in (17), we have $g(1, x_2 + y_2) = g(1, x_2) + g(1, y_2)$. Therefore the function

$$(19) \quad \psi(x) := g(1, x)$$

is additive. Let us consider the cases

$$(20) \quad c = 0,$$

$$(21) \quad c \neq 0.$$

If $c = 0$, then (17) for $y_2 = 0$ and (18) for $x_2 = 0$ become

$$(22) \quad g(y_1, y_1 x_2) = y_1 g(1, x_2) + g(y_1, 0)$$

and

$$(23) \quad g(x_1, y_2 x_1^4) = g(x_1, 0) + x_1^3 g(1, y_2),$$

respectively. Setting $y_1 = x_1$ and $x_2 = y_2$ in (22), we get

$$(24) \quad g(x_1, x_1 y_2) = x_1 g(1, y_2) + g(x_1, 0)$$

and then, from (23) and (24)

$x_1^3 g(1, y_2) + g(x_1, 0) = g(x_1, x_1^4 y_2) = g(x_1, x_1(x_1^3 y_2)) = x_1 g(1, x_1^3 y_2) + g(x_1, 0)$,
implying $x_1^3 g(1, y_2) = x_1 g(1, x_1^3 y_2)$. By using the additivity of $x \rightarrow g(1, x)$ for rational x_1 , we get from the last equality $x_1^3 g(1, y_2) = x_1^4 g(1, y_2)$ and then

$$(25) \quad g(1, y_2) = 0$$

for any $y_2 \in \mathbf{R}$. Hence, by (22) with $x_2 = \frac{y_2}{y_1}$, one has

$$(26) \quad g(y_1, y_2) = g(y_1, 0)$$

for any $y_2 \in \mathbf{R}$.

Consider now the case of $c \neq 0$. Let us write (17), (18) in the forms

$$(27) \quad g(y_1, y_2 + y_1(x_2 + 4cg(1, x_2)(y_1 - 1))) = y_1g(1, x_2) + g(y_1, y_2),$$

$$(28) \quad g(y_1, y_2 + y_1^3(x_2y_1 + 6cg(1, x_2)(y_1 - 1))) = y_1^3g(1, x_2) + g(y_1, y_2).$$

Fix x_2 arbitrarily. The following cases may occur:

$$(a) \quad g(1, x_2) = 0,$$

$$(b) \quad g(1, x_2) \neq 0.$$

In the case (b) we choose $y_1 \neq 0$ such that

$$(29) \quad x_2 + 4cg(1, x_2)(y_1 - 1) = 0$$

or

$$(30) \quad x_2y_1 + 6cg(1, x_2)(y_1 - 1) = 0.$$

If $g(1, x_2) \neq \frac{x_2}{4c}$, it suffices to set $y_1 = 1 - \frac{x_2}{4cg(1, x_2)}$ in order to get (29).

While if $g(1, x_2) = \frac{x_2}{4c}$ the equality (30) is satisfied for $y_1 = \frac{3}{5}$. Then (27), (28) take the forms

$$(31) \quad g(y_1, y_2) = y_1g(1, x_2) + g(y_1, y_2),$$

$$(32) \quad g(y_1, y_2) = y_1^3g(1, x_2) + g(y_1, y_2).$$

Hence it follows $g(1, x_2) = 0$ for $y_1 \neq 0$. So, we have obtained a contradiction in the case (b). Therefore, $g(1, x_2) = 0$. Then (27), will take the form

$$(33) \quad g(y_1, y_2 + y_1x_2) = g(y_1, y_2).$$

Since $y_1 \neq 0$ and x_2 is an arbitrary real number, we have, by (33) for $x_2 = -\frac{y_2}{y_1}$,

$$(34) \quad g(y_1, y_2) = g(y_1, 0)$$

for any $y_2 \in \mathbf{R}$. In the case of $c = 0$ we have obtained (26). Therefore, the equality (34) is true for any c . It follows that (16) will have the form

$$(35) \quad g(x_1y_1, 0) = y_1g(x_1, 0) + 3x_1c^2(x_1^2 - x_1)(y_1^2 - y_1) + x_1^3g(y_1, 0).$$

Observe that the left hand side of (35) is symmetric with respect to x_1, y_1 , and so the right-hand side must be too. Then we have

$$\begin{aligned} y_1g(x_1, 0) + 3x_1c^2(x_1^2 - x_1)(y_1^2 - y_1) + x_1^3g(y_1, 0) = \\ x_1g(y_1, 0) + 3y_1c^2(y_1^2 - y_1)(x_1^2 - x_1) + y_1^3g(x_1, 0) \end{aligned}$$

Hence for any fixed x_1 such that $x_1^3 - x_1 \neq 0$

$$g(y_1, 0) = \frac{g(x_1, 0)}{x_1^3 - x_1}(y_1^3 - y_1) + \frac{3c^2(x_1^2 - x_1)}{x_1^3 - x_1}(y_1^2 - y_1)(y_1 - x_1).$$

Therefore, there exist constants b, d, e such that

$$(36) \quad g(y_1, 0) = by_1^3 + dy_1^2 + ey_1.$$

Putting (36) into (35), we get

$$\begin{aligned} & \mathbf{b}x_1^3y_1^3 + \mathbf{d}x_1^2y_1^2 + \mathbf{e}x_1y_1 = \\ & = \mathbf{b}y_1x_1^3 + \mathbf{d}y_1x_1^2 + \mathbf{e}y_1x_1 + 3x_1\mathbf{c}^2(x_1^2 - x_1)(y_1^2 - y_1) + \\ & + \mathbf{b}y_1^3x_1^3 + \mathbf{d}x_1^3y_1^3 + \mathbf{e}x_1^3y_1. \end{aligned}$$

Hence $\mathbf{b} = +3\mathbf{c}^2 - \mathbf{e}$, $\mathbf{d} = -3\mathbf{c}^2$, and (36) becomes

$$(37) \quad g(y_1, 0) = (3\mathbf{c}^2 - \mathbf{e})y_1^3 - 3\mathbf{c}^2y_1^2 + \mathbf{e}y_1.$$

So, we have proved the following lemma.

LEMMA 1. *The general solution of the equation (35) is the family of functions of the form (37), where $\mathbf{e}$ is an arbitrary real number.*

By Lemma 1 and the equality (34) we get the result as follows.

LEMMA 2. *The general solution of the equation (16) is the family*

$$(38) \quad g(y_1, y_2) = (3\mathbf{c}^2 - \mathbf{e})y_1^3 - 3\mathbf{c}^2y_1^2 + \mathbf{e}y_1,$$

where $\mathbf{e}$ is any real number.

THEOREM 1. *The general solution of the system (1), (2) in the set of functions satisfying (12) is the set of pairs of functions of the form (15) and (38), where $\mathbf{c}, \mathbf{e}$ are arbitrary real numbers.*

So we have shown that the system (1), (2) possesses infinitely many solutions. Unfortunately, the general solution of this system is still not known.

References

- [1] J. Aczél, S. Gołąb, *Remarks on one paper subsemigroups of the affine group and their homo- and isomorphism*, Aequationes Math. 4 (1970), 1–11.
- [2] S. Midura, *Sur la détermination de certains sous-groupes du groupe L_5^1 à l'aide d'équations fonctionnelles*, Dissertationes Math. 105 (1973), 1–34.
- [3] S. Midura, *O rozwiązaniach równań funkcyjnych wyznaczających pewne podpółgrupy grupy L_4^1* , Rocznik Naukowo Dydaktyczny WSP w Rzeszowie 4/32 (1977), 49–58.
- [4] W. Kędzierski, *O rozwiązaniach układu równań funkcyjnych wyznaczających pewne podpółgrupy grupy L_4^1 i L_5^1* , Rocznik Naukowo - Dydaktyczny WSP w Rzeszowie 6/50 (1982), 51–52.
- [5] M. Sablik, P. Urban, *On solutions of the equations $f(xf(x)^k + yf(x)^l) = f(x)f(y)$* , Demonstratio Math. 18 (1985), 863–867.
- [6] N. Brillouet, J. Dhombres, *Equations fonctionnelles et recherche de sous-groupes*, Aequationes Math. 31 (1986), 253–293.
- [7] S. Midura, *Sur les solutions des équations fonctionnelles qui déterminent certains sous-demi-groupes à deux paramètres du groupe L_4^1* , Demonstratio Math. 23 (1990), 69–81.

- [8] S. Midura, *Sur les solutions des équations fonctionnelles qui déterminent certains sous-demi-groupes a deux parametres du groupe L_4^1* , Aequationes Math. 39 (1990), 288–289. Reports of Meeting Twenty-sixth International Symposium on Functional Equations, April 28–May 3, 1988, Sant Feliu de Guixols, Catalonia, Spain.
- [9] S. Midura, *On the solutions of functional equations determining some two-parameters subsemigroups of the group L_5^1* , Zeszyty Naukowe Wyższej Szkoły Pedagogicznej w Rzeszowie, Matematyka 1 (1990), 123–124.
- [10] S. Midura, J. Zygo, *On subsemigroups of group L_5^1* , Zeszyty Naukowe Wyższej Szkoły Pedagogicznej w Rzeszowie, Matematyka 1 (1990), 109–122.
- [11] S. Midura, *Sur la détermination de certains sous-demi-groupes du groupe L_5^1* , Aequationes Math. 43 (1992), 275–276.
- [12] S. Midura, *On subsemigroups of the group L_6^1* , Zeszyty Naukowe Politechniki Rzeszowskiej 101, Matematyka, Fizyka 14 (1992), 67–81.
- [13] S. Midura, *On subgroups of the group L_5^1* , Demonstratio Math. 27 (1994), 133–144.
- [14] S. Midura, *Sur certains sous-demi-groupes a un paramètre du groupe L_4^1* , Aequationes Math 47 (1994), 283–284. Reports of Meeting The Thirty-first International Symposium on Functional Equations, August 22 - August 28, 1993, Debrecen, Hungary.
- [15] J. Brzdęk, *Subgroups of the group L_n^1 and functional equations*, Demonstratio Math. 27 (1994), 23–30.
- [16] S. Midura, *On solution of system of functional equations determining some subsemigroups of the groupe L_6^1* , Demonstratio Math. 29 (1996), 579–590.

INSTITUTE OF MATHEMATICS
PEDAGOGICAL UNIVERSITY
ul. Rejtana 16A
35-310 RZESZÓW, POLAND

Received January 27, 1997; revised version June 2nd, 1997.